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All chemical equations you give should
be balanced including the conditions of
the reaction.

Answer the following questions:

Choose to answer (a) or (b).

Write down the scientific concept that

expressed as:

(a) An aromatic compound in which two
hydroxyl groups are directly attached to
the benzene ring.

(b) A polymer that is heat-resistant,

electrically insulator, inert and used
in surgical threads.

Choose to the correct answer:

The reaction between hydrochloric acid and
propene gives:

1,1 dichloropropene.

1,2 dichloropropene.

2- chloropropane.

®O6

1- chloropropane.

L 31 Aaltly) eleasdl - doladt 2l o L dt yid | aled | Balgds Oyl
3 el R XL Hdlplas)

Aol OYaladd! awe> S
Jelal do g oG HS 2 A e
z‘&,ﬁﬁﬂ Al &G%i

() 91 (1) oo Al W1 5> -
1 3ylualt e JIAM elall pullaael) LS
On it Adls 48 Juali Silegyl oS pe (1)
S 9y d (e ganon 8 piilie
Iile g Byt Sl ys Jais red 91 ()
o gt | (B iy Jalin g Ly pgSU
PNoRT

s Aovouall Al M1 i - Y

o dlhoglSorugl! oo Jelai e
e (g

(919098 SLE Y A O
(99098 ALE YN @
Db oY &)

Dbarmass v (D)
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Give reason for: (P
Phenolphthalein i1s not used to distinguish | joceaitt 2 dlial gl adsing ¥
between ammonium chloride and sodium | w5485 pg-cige¥ dyyslS I gloms (3
chloride solutions. g3 guall

m In the following reaction I Jelalt) o -t
AgNO;+ NaCl —— NaNO,; + AgClI

Which graph represents the relationship | (s 28Mall e peas &dLd) JISa¥ gl
between the concentration (C) and time| . (T) ey (C) &dMelaied! 348 )5
(T)?

A \

T T T T
@ ® @ ©

Show by chemical equation the effect of
passing steam over hot iron.

Sl el 51 ASlest Walaatlgeing -0
O3l st e sladd
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[ 6- Using one reagent, how can you distinguish Lo juad S nly casls Alasiuls -1
practically between the solutions of sodium | agssgal! ai y 8 ls Jolmo (o

sulphide and sodium sulphite salts? g3 gual | el ;S g
Choose to answer (a) or (b). () 91 (1) e Aala M1 judS -V
Show by equations how to obtain: 1o Juand S dbbaSH O alaatl il g
(a) Trinitrotoluene from benzene. Ot (e (Y alo g i A (1)
(b) Cyclohexane from phenol. Jgeal) (po SRl HluS el (o)
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EB show by equations both oxidation and |s.ws¥f Jelai (ye SIS S¥alaatls 79 A
reduction reactions in the fuel cell. YR (P HERE W SLES (P

m Show by equations how to obtain iron III | 4,88 e Jaxi oS S¥alaally g -9
chloride from magnetic iron oxide. -t linad| st as pe T gt
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Choose to answer (a) or (b).
Write down the scientific concept that is
expressed as :

(a) The reaction that proceeds almost to its
end having a high value of equilibrium
constant (K¢).

(b) Concentration of the saturated solution
for springly soluble salt at a certain
temperature.

(Al ¥ 2a0L) e LoausI T - dalatt a0 g3l | Ayt | alad | Balgds Lol

() 9 (1) o Al W1 pui -\«

13kl le JIA elal! allaael| LS

Lotie s IS0 pewn 1 Jelaid) M
s (K oiswreats oss

el (e pdiad! Jalmad! 58 5 ()
Ay we slodl G Ol mod
s 3y

Show by equations how to obtain| ke =i as O¥sladdlh moy -\

propanone from a suitable alcohol.

Choose the correct answer:
The compound 2,2 dimethyl butane is
considered as an isomer of the compound:

2- methyl butane.
2,2 dimethyl pentane.
2- methyl pentane.

®OOeE

2,2 dimethyl propane.

Sorulie JgS (pe O gobag 1)

1 dovonall Aol i -\ ¥
Ol 9 Jtlre (LD Y (Y S ol i

1S pall g5l

Obige dae v (D

olts Jiwe ALYy (@
NENEE NS
-Olig s Jdee LS Y (Y ®
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In the following reaction: L el o -\ Y

N,H, === N, +2H,, AH=()

What is the effect of increasing pressure on Sdelal s e dariallsalyy ,5i Lo

this reaction?

Give reason for: tde-§
The copper ion Cu?* is coloured, while the |« ;31 (s Laiacggte Cu®’ Lulomid &
zinc ion Zn?" is colourless. Oske pi Zn’’

Show by equation the reaction between | assasual! wosgs delad Walaadlizog -0
sodium 1odide and silver nitrate. sl Ol e
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Choose to answer (a) or (b). £(0) 31 (1) e Aala Y1 i =1\
Show by chemical equations how to obtain: | bk Jaxi a8 Lok OYsladtl g
(a) Iron (IIT) oxide from iron (1) oxalate. (1) s SYLST fyo (TT) et | s (1)

(b) Iron (II) sulphide from iron (IIT) oxide. (M) s wewST (o (1) cbisd| s, (0)

v/ U.JLIJI JoaJl - d=salpoldalinl) A A



YOV/TNT Gyt alalh LA jgatt (A o1 2L s hoa - Aalad i g0 Al yodl Al Balgs (sloial

The molecular formula C, Hg O represents
two isomers. Write down the structural
formula of each of them. How can you
distinguish practically between them?

O i CHO ddujsd! daall -\V

Ol 3]

aSg hogin IS AGLD daall LOS)
QL:-LQ.G WM‘M@

9
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Four monovalent elements A, B, C and | D, C, B, A 53S0 Zuals| jolic dasyl -\A

D whose oxidation potentials are given s Jgumdly Lgious 3 gg
in the table below:
A B C D
04V -0.8V 0.76 V 29V

Calculate the greatest value of electromotive | 4w ¢S 2281t 3530 Aed 2T Cows
force that can be obtained when forming a|aolats ads (4 eSil lgde J gt EliSan
galvanic cell using two of these elements, and | ccSty « jwliall sia o (o raic o
write the diagram that represents this cell. dad 00gY o a5,

10
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Choose to answer (a) or (b).

Write down the scientific concept that is| :3Lal e JIat Lelalf pllamed| OGS
expressed as:

e doles 3 palt ot ddais adee (1)

1(2) 9 (1) (oo Al W1 s 14

(a) The process of coating the metal to be bles die 81,51 5L fal
protected from rusting by another metal | _, _ SN\
- adllall  Jugd  led el Aedasl ()
of less reactivity. " w ==
. . : : 5 (ye 4 P | Adleast
(b) Systems in which the chemical energy is I3t et 3L L M >,
converted into electrical energy through |2 28 JlHsly Sausl Jelss

spontaneous irrversible oxidation- ulsa!
reduction reaction.

Choose to answer (a) or (b). (@) 91 (1) e Al W1 5 -

Write down the equation of Hematite (58 CoiiLangl! J1 5| A alae OIS

reduction in:

LAatt O att (1)

(a) The blast furnace. LS 3o 08 (o)

(b) Midrex furnace. '
11
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Choose to answer (a) or (b). 1(2) 9l (1) s L1 S - Y
Show by chemical equations: P A0 Lea ST OW 3 laetly g
(a) The reaction of diluted hydrochloric acid | caaselt dliysiS g gl (e~ Jelai (1)

with sodium sulphite. 2933 guall CLl S pa
(b) The rea.lction of hot conceptrated sulphuric| s 41 clon st paes Jelss (0)
acid with hydrogen bromide gas. Ot 90k isn A goo (ynLat|

Choose the correct answer: s Aol Al W) o >S-YY
If 30 ml. of nitric acid is neutralized with 10 ml. | Je 10 pe il 53t aas (30 Jo 30 Jalas 131
of magnesium hydroxide whose cocentration | «sy¥ se 0.3 0.8 5 a gewid L3 f e g yuiea (0
1s 0.3 Molar, the concentration of nitric acid s G okuw L YLdd| (e 48,5 ol
equals:

@  0.01 Molar %3400 (D)
(®  0.02 Molar $¥340.02 @
@ 0.1 Molar ($3¥90 0.1 @
@ 0.2 Molar ($i¥90 0.2 @

Give reason for: t e -YY
Iron melts at a very high temperature that| el idle 5, as s ic it ygain
reaches 1538°C. aagieoYA I
12
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An electric current is passed through | i g xSt Jolme 52 1568 5L el Y8
an electrolytic solution of silver nitrate | aaall (o 3531 (o Aall oo

between an anode of silver and a cathode sl e 39318
of iron. Show the change that would|.:s33 4GS Lle Tpday U piid| mg
happen to the cathode mass. Explain il | ywid

yYour answer.

Show by equations how you would obtain | ;e Juami a8 ¥slaclly miy -Yo
carbolic acid from the simplest aromatic | g, gydtue dawsl (o Ll 91,3 (aas
hydrocarbon. kgl

13
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If the degree of solubility of aluminum | “wSgyes Oligs Ay cols 131-¥1
hydroxide A1(OH)j5 1s 1076 mole/litre. 106 gstus AL(OH);  pguie 131
Calculate the solubility product of|wiy Jols 1ad cwnt U /Jge
aluminum hydroxide. s g S g yig!

Show by chemical equations how t0 | Jaxi a8 ailast oY slaatliming - YV
obtain ethane from methane. Oliad! (pe LN e
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Choose to answer (a) or (b). 1(2) 9l (1) (s Aol 15 -YA
Write down the scientific concept thatis| :3;Lal e JIu galalt mllamedt I
expressed as: salalt GligSe e il Lgd ol ddec (1)

(a) A process involves the identification of | .slgedue (yo Uogline ol dudi ColS £lgw
the constituents of a substance either being | (o pstas e 38,5 (i Adac ()
pure or a mixture of several substances. e dwglaay  asls  Jglee

(b) A process of determining the concentration | Jalais i s alal! Jalmal! 5.8 559
of a given volume of an acidic solution by LolaS das
knowing the volume and concentration
of the alkaline solution that completely
neutralizes it.

How can you distinguish, without using | caafsS alisviw! gy jued S -Y4
chemical reagents, between lead (II)| olo ! wyslS mlo o adles
oxide salt and potassium chloride salt? 3 gl 9l 518 ela g (1)

15
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Choose the correct answer: s Asouall Al M pdni =Y
The following ions are paramagnetic and | z3siey a cudolise |yl AdL OLigsY!
coloured, except: e Le

@ Ti* Ti* (D
® Mn? Mn2 @
© Fe3* Fe3* @
@ \Vas vV 2t @

What would happen after a while from | gy (o 2w 5,38 day Gusy Bile =YY
dipping a magnesium rod into a blue|(e Jslme 2 pgwisled! (oo Gl
copper sulphate solution? o183 yulmd | Ol 4 S

Show by chemical equations how to | Juams s dileaSI oY slaat by - VY
obtain triglyceride ester. ok eI A ! e

16
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Give reason for: b Lat Yo YV
The lead acid battery is considered as a|ie duaocl=tl [olw,t dyjllay  ,cal
secondary galvanic cell. LA g1 A LAl | L ST

Choose to answer (a) or (b). (@) 91 (1) oo Al ¥ i ¥4

Show by chemical equations how to obtain: | : le Jaxi a8 Aol s O¥slaal b g
(a) An organic compound from an aqueaus | =St ke Joloe (e g gae S o (1)

solution of two inorganic compounds. Ogls b
(b) Dihydric alcohol from monohydric [J$S ( deaSsgl! LS JsS ()
alcohol. S g yogd ) Sl |
17
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Arrange the following steps to obtain | e Jsastt A gLl Oigladat| 5y -V

sodium ethanoate from sucrose: 1 3955l (pe A g3 gualt Ol g3
(Complete oxidation - Fermentation - — Jalad - JamS reii - Aeli duws))
Neutralization - Hydrolysis). (e Yo

Calculate the pH value of a weak mono- | e Jgl=ad pH dad cowst -¥
protonic acid of concentration 0.2 0.2 08,5 Ogigrd! Galal cams
Molar, given that its degree of ionization | golus auli Zays ol Lele ¥ se
equals 0.03. 0.03

18
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Choose to answer (a) or (b). 1(2) 91 (1) e Aala W1 jud -YV
Write down the scientific concept thatis| 3 lal le JIA Lelall mllamel| LIS
expressed as : G0 las JelsS ausvi S| juaie (1)

(a) A transition element used as a catalyst| .(uig - mla) 2as oy jlait jlé dcbiw
in the industry of ammonia by (Haber-[sMiel Lgd aplis jolic e game (o)
Bosch) method. od adiy “d) ool (55t

(b) A series of elements in which the sublevel | .98t J gt (yo dualindi 5yt
(4d) is filled successively and located in
the fifth period in the periodic table.

Choose to answer (a) or (b). () 9l (1) e dala ¥ i -FA
Show by chemical equations a confirmatory | 42480 4 o0 4.6 LS DY slaal L g
test to detect for: 1y AL
(a) Sulphate anion. Ol s 901 (1)
(b) Thiosulphate anion. Ol 28 5681 90T (2)

19
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Choose to answer (a) or (b).
Explain:
(a) The rate of the chemical reaction depends
on the type of bonding in the reactants.
(b) The electric conductivity of sulphuric acid
does not increase by dilution.

L 31 Aaltly) eleasdl - doladt 2l o L dt yid | aled | Balgds Oyl
3 el R XL Hdlplas)

1) 31 (1) oo Apla 31 g3 14

' puid

ML leaSI Jo Lot A uwcalisn (1)
JAlelaal ) sl gedf B dayl it ¢ g9

o S (o S g3 A pa 21355 ¥ (o)
e e S S L

ETY Mention one importance of the chemical | ileesS Jdoild iy deanl 830 -¢

analysis in the medical field.

et Jlos 2

Choose the correct answer:
On mixing two equal volumes of hydrochloric
acid and calcium hydroxide solutions, each
i1s of concentration 1 Molar , the produced
solution would have:

®
®
©
@

20

an acidic effect.
pH value equal 7.
an alkaline effect.

pH value greater than 7.

¢ Al | Al M|y - £ )

e I glone (10 (patglails (yramn dali e
35 pemdlSI uS gyd g LhiyglS g gl
Il Jplomad 1 0950 i ¥ e 1 Legin JS

WL RPINE

.7 e St pHaed

O®OO
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Give reason for: sle €Y
Nickel — chromium alloys are used in heating | clate 2 ag,SHy ISl dlibw A
coils and electric furnaces. O IRIPe b (PR {

Compare between alcohols and phenols | -2 &% st g O oS3 (i 3B - £ ¥

in the table below. 1 J gt
Point of comparison Alcohols Phenols
ylaet dx g O gomsT O gall
B T B e e g et e
.?..Mw’ PESY qeeencet A cecnncneencneencnenesooge e |- N | [P R W P G}

Reaction with caustic soda
2\.:'3[53' ‘A}«AY\HJ‘:L&.’B! ..................... B o G W 55 O

MNaphthalene and diphenyl are aromatic | SLS st (po Sl LG g (md G| - £ £

compounds. LA Leg ¥
First : erﬁe down the structural formula of Legie JST Hilid | Zacuall ST+ ¥ g0
each . i a
Second: How many moles of hydrogen are | %331 020l ©¥gs sue Lo < Lol
sufficient to saturate each of these Tlogin oS pe S i
compounds?

21
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The diagram below illustrates a galvanc cell P AOLAls Ads e g YL S -0

Salt bridge axtes s

First : What do you expect for the value |asait15gat1as st a8sm5 s i
of the electromotive force if the zinc | ads cawad Jlatuw! @i 13 G gt
half-cell is replaced by an iron half- [ Scoust ds i (e Lt

cell? LDl wd
Explain your answer Amlal13 2 daiall ad ) die i fale £ LA

Second: What would happen if the salt bridge Ll | i SHUSY ) Y gl (o
is taken out from the cell solutions?
Explain your answer.

22

v/ U.JLIJI JoaJl - d=salpoldalinl) A A auj






